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Enantioselective Total Synthesis of (+)-Brazilin, (–)-Brazilein and (+)-
Brazilide A 
 
Problem: 
 

 
 
 

1) Propose the structure of the key intermediate 4. 
2) Describe the steps/intermediates leading to 7 from 4. 
3) Propose a sequence to prepare the starting material 2. 
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Solution: 
1) & 2) 
 

 
 
3) 

 
 
Comments:  
The (+)-Brazilide A could finally be obtained by isolating the C-10,11 epimer 
of 4.4.[1]  
The use of methanesulfonamide to accelerate the Sharpless asymmetric 
dihydroxylation has been documented.[2] On the other hand, the exact effect 
of 8 (also accelerating the reaction) was not established by the authors.[1] 
The preparation of 2 had been previously reported.[3]  
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